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matlab 0000000000 DOOCO0O0O0O0O f£fc 0000

oOooo0 fft0000000d

>> t = 0:1/100:6-1/100; %000 1/100 00O 6 (ODODODOO)HOO
% 000000

>> y = sin(2*pi*15*t) + sin(2xpix40xt); % 16Hz O 40Hz 0ODOOOOODO

>> f=fft(y); %y OO0 =600 00 fft 0 yODOOO

>> £(10) % £(10) ODOOODOODO

ans =

7.7936e-013 +1.5210e-0131 » 00oOoOooooboo

>> s = abs(f); %» 0000000000000000d
» 0o0ooooo

>> plot(s); % 400000000000
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>> find(s>1)

ans =
91 241 361 511
matlab O
>> s>1
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gbodboel,241,361,511 0 d0dgouoooooaobooang

oboooboooboobooboboobboobooooobDoooDooooe0ODO0OOODOODOO 100HZ O
0000000000000 100001/6HzO00000O00O0O0O0O0OOOmatlabO0000 100000000
obooboboooooboosob2000b0000000000ob00b0obO0onbO0lsHz 40HzOO00O00O0O
oooooooooopooftooo00O0ooOo0oO0oooo00oDooO0ooOoOoo0UooDbooooDoood
goo
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>> plot(abs(fft(y,599)))
>> plot(abs(f£t(y,590)))
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fft(y,599) 00000y (599) 000 y(1) 00DO0O0O0DOD0DD0O00OOD0OOD0O0OD0OUDOUODOUOUODOOD
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>> h = hanning(600) ;
>> plot(h);
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>> hold on
>> plot(abs(fft(y(1:599), 599)));
>> plot(abs(£ft(y(1:599) .*hanning(599)’, 599)), ’r’);
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fft 0000000000000 0ooDoon

a-.wav 00 0000D000O00O0O0OOCOO00OD 8000HzOOOODOOOODOOOOoooOoOooo

00000 100HzOOOOOOOOOOOOO51200 ££t00000000 100 8000/512 =15.625 00O
0 15625Hz 0000000000000 DOOC0OO00DOOO00OO0ODO0O0DOOO0ODOG1200 fHOODOOOO
00051200 1/8000%512=0.064 000 6400000000

gboboobOoe4DO000000DO0O0OO 51200 f£ft 00000

>> [y, fs, n] = wavread(’a-.wav’);

>> h = hanning(512);

>> yy = abs(fft(y(2001:2512).%h)); % wavread 000000000 y O
» 000000000 nOODOO
% 00000

>> plot(yy);

>> plot(yy(1:70)); % 15.625 * 70 = 1094 (Hz) 0O OO

>> stem(yy(1:70));

>> find(yy(1:70)>1) % 000000
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>> t = 0:1/8000:1;

>> for k = 1:12,

x = x + yy(9%k) * sin(2 * pi * k * 9 % 15.625 * t);
end

>> soundsc(x, 8000);

>> plot(x(1:512));
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